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Two coherent sources of intensity ratio
100 : 1 interfere. The ratio of intensity
between maxima and minima is

(A) 100: 1
C) 11:9

(B) 10: 1
(D) 121 : 81

The radius of the orbit of a satellite is
16 times the radius of the orbit of a
geo-stationary satellite. The period of
the satellite is |
(A) 4 days
(C). 64 days

(B) 16 days
(D) 96 days

.- Which of the following is path

dependent ?

(A). U (B) PdV v
©P (D) v
Where U = Internal Energy
P = Pressure
V =Volume

The potential energy U(x) of a particle

Av Bt 3 executing SHM.is
¢ 3&’("’\) U(x) = Feris 3; (A) U(x) = constant
(B) U(x) = Ae~™ ‘,,DL@ (B) U(x) = Ag~t* >
&
(©) UX) = yK(x-a) ©) Un=3Kix-a¢
(D) U(x) = Kyx + Kx2 (D) U(x) = Kx -: l'((':(2 5 ) .Qr‘/
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5. TS e fra 2 3T 36! 6400 f5 5. Whatis the capacitance of the earth if it
32T o1 e T ST HAT STl g 7 is assgmed to be a spherical conductor
of radius 6400 Km ?
(A) 711 ATSHIHTS
(A) 711 nF
(B) 640 HHHIHE (B) 640 uF
(C) 900 WIEHIIS (C) 900 pF
(D) 1406 &8 (D) 1406 F
foreft gameslt WW% 6. ;theic:rrrs)r’ical aperture of a microscope
(A) wsini (B) psini (A) p/sin | (B) psini
(C) sin i/ (D) sin~'ilp (C) sin ifp (D) sin”"i/p
@ q T & I Y Th el gy b 7. Infinite equal charges q are placed along
Fasn: 1, 2., 44, 167, 321, a line at distances 1 meter, 2 meter,
W@ ™ | 3w T % Ry 4 meter, 16 meter, 32 meter and so on.
fava g ' Potential due to all charges are
(A) I (B) 4an0 (A) Zero (B) 4nq ,
q - q - 9 q
\/(C) 2m €, (D) 8x =, (C) 2 €, (D) 8x €,
8. TSI TS HAA S TNH A 5& . /. 8. ' Eight equal drops of water are falling
a8 IR @ E | 3fe 2 o o through air with a steady velocity of
T firet ST 1 < o1 T WA o o 5 cm/sec. If the drops coalesce, what
#m ? . B M willbe the new terminal velocity ?
(A) 5€.41. /Gehve ‘i—,i\'&? 3 (A) 5cm/s
(B) 1031, /dFve ,ﬁ& (B) 10 cm/s
(C) 20® .4, /&S (C) 20 cm/s
(D) 40 & . /&ws (D) 40cms
gamqgh (aﬁt’z‘mﬁﬁaﬂ) TG Sl YR 9. The i‘nstrument used to measure optical
T - rotation is known as
(A) WIS (A) spectrometer
(B) geweaft (B) microscope
(C) UTrHTET (C) polarimeter
(D) TR (D) interferometer
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(A) s

(C) 60°

(B) 45°
(D) 90°
11. SRSsisisgd

(A) TR =T

~o~ -~ ~_r g
(B) =Tiv==E I9gTes JiHF4ae

- e~ - D g
(C) =iv== 5531 JHEae

-~ -

(D) &< SR ===a1 = ¥4 [ai=na =l

(A) 2453 /=. (B) 3023/=.

(C) 35.75/=. (D) 4825/=.

13. @hgEs, ewmiany, rduEhs
R, TE pET FgE it

1 pcosf
dze, I

(A)

i 8

If the resultant R of two vectors P and
Qis such that R? = P? + @2, the angle
between vector P and Q is

(A) zero

(C) 60°

(B) 45°
(D) 90°

The source of solar energy is
(A) buming of hydrogen "t
(B) nuclear fission reactions
(C) nuclear fusion reactions

(D) radiant energy received from other
solar systems

20 grams of ice at 0°C melts to water
at 0°C. The entropy change in this

~ process, is (Latent heat of water is

80 cal/gm)
(A) 245 JFK (B) 30.2 J;FK
(C) 35.7 JIFK (D) 49.2 J/°K

The electric potential due to dipole p,
at a point distant r from it and in the
direction 6 from the dipoles is

1 pcosb
A
(A) dne, 1

1 p
B Ll
() 4n g, r
1 psind
4ne, 1

(C)

1 ptand

(©) dne, r?
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(C) Tt e et Gl <h e
(D) et it wrerft e el < s

g
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(B) 2k/\/x
(D) 2k/x8

16. @wﬁmmﬁwmaﬂmw%
(A) HHATHE (B) G
(C) THU=IUR = (D) HHSAREGrH

FE AT % fgm
R FE e 2| o
A) SE®EFE -

(B) et SAFfeR W

(C) (A) T (B) < )
(O) FEen IS

/(8 1T i et 6 ST
383k # | 2000 TES I AT WA

& o 3rTe et 4.6 A, WR T

- fie o Ferfy 14,08 TR IR

& AT R e o) =1

(A) 3367, /@.  (B) 3767 /9.
(C) 33271./&. (D) 340 . /2.

14, The gravitational field due to a mass
distribution is given by E = kx~*? in
x-direction, where k is a positive
constant. Taking gravitational potential
to be zero at infinity, its value at a

distance x is
(A) 2kvx (B) 2k/Vx
(D) 2K/x°

(C) 2kx®

If the focal length of objective lens’is

increased then magnifying power-of

(A) microscope will increase but that
of telescope decrease

(B) microscope and telescope both
will increase '- (

(C) microscope and telescope both
will decrease

(D) microscope will decrease but that”
of telescope will increase

15.

16.  An adiabatic process is,also known as
(A) isothermal  (B) isobaric . :

(C) isoentropic (D) isochoric

"Fibre optics works on the principle of
(A) Snell's law

17.

(B) Total internal reflection
(C) (A) and (B) both
(

D) Population inversion

18. The internal radius of a 1 m long

resonance tube is 3 cm. With a tuning fork
of frequency 2000 Hz, the first resonating
position is 4.6 cm and the second
resonating position is 14.0 cm. Speed of
sound at the room temperature is

(A) 336 m/s (B) 376 m/s

(C) 332 m/s (D) 340 m/s
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fAepeam Henfer o s S Am 2

3pF 3uF 3uF
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SiF : 3}112: 3uF
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3uF 3uF 3uF

(A) 100 pC (B) 300 uC

(C) 150 uC (D) 200 ic N
PG-03D g 9P Yo

NEENS s
N Y go/ A 'k‘i\ o

19, Forincidence at Brewster's angle, :hg
angle between reflected and refracte

rays, is
(A) 120° (B) 90°
(C) 70° (D) 60°
20. The peak voltage in a 240V A.C.
source is
(A) 240V (B) 300 V
(C) 340V (D) 380 V

21, Anderson’s Bridge is used for
measurement of
(A) Capacitance
(B) Self-inductance
(C) Resistance.
(D) Frequency of AC supply

22, Torsional couple required to twist a

cylinder of length % radius r and

. modulus of rigidityn by one tum will be

. 2n’nr* mrt
‘(A) L '@ oL
2 .4 4

23. Inthe following circuit if between point
A and B, a potential of 100 volt is
established, then find value of charge
of the nearest capacitor to point A.

SuF 3uF 3uF
[‘ ¢

3uF 3uF

#
r/o\!f-k’\do $\w
VA A o
e v
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(& T = 0.288 IR, o)

(A) 8000°K(°.) s A R
¥ B) 7000K (F) Tz ’wgu\.(ﬂ
2, © 6128°K (::) AVt b
’ 8
%/ (D) 5000°K (%-) <= .}%(
e TR AT T S S T
8 T
(A) 270 (B) 50
(C) 20 (D) 5

26. AYE FIA I iR v |
(A) SRR T - foRtor e
T Waed W g Rret sremifig
BAE | |
(B) FreTat Ty e W1 g
I=Iat YTHTY] ShATeh o &I & fore,
3freTeTforeh W —fortur sht aimee
e it 2 | |
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fopeuit <t Yo &rwan 3TfYre: Bl € |
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7. f, T £, ok gt 35 3 T Al T
Tl GRS ST fohT ST 8, S 37
YT G0 B

)

(B) -21-@ +1,)

1
(C) 122— (D) 5t~

24.

25.

26.

27.

The light from the sun has maximum
intensity for the wavelength of 470 nm.
Assuming that the surface of the sun
emits as a blackbody, calculate the
temperature of the sun.

(Wien's constant = 0.288 cm. °K)

(A) 8000°K

(B) 7000°K

(C) 6128°K

(D) 5000°K

The ratio of masses of a pion and an
electron is about

(A) 270
(C) 20

(B) 50
(D) 5

Mark the wrong statement.

(A) The characteristic X-ray
spectrum consists of sharp
peaks superimposed on the
continuous spectrum.

(B) The characteristic X-rays from
substances of higher atomic
number are of longer wavelength
than those from lower atomic
number.

(C) X-rays from higher atomic number
are more penetrating.

(D) Characteristic X-rays are generated :
when an electron from a higher
inner shell jumps to lower. s

An achromatic combination of two
thin lenses of focal lengths f, and f,, is
achieved if separation between them
is equal to '

f 1 !
" 3 ®) H+h)
b L
© 2 ©) 5~
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28. 260 T IRy HT 0k @S é‘;‘ﬂ Th
TR H T ﬁamw%ﬁm
5 R g da | afRqrea A A A1
9 1 ST, 0 e o 9 ST © |

Fﬁrﬂamﬁw@sﬁaﬁﬁf%
@v (A) 265 st (B) 260 &I
» (C) 255 7% (D) 250 &t

9 0.15 . SRoTaeT MRy 150 ) Tk Fuea!
7 HI50%, 220 ), SlEH WS IR |

P B o srfiyere BT |
(A) 44571, (B) 4.251, ﬁ
(C) 4.007%. (D) 3.50 . h

X3
TEHTHEH 3 e 5 o T vy ot s O 130,

‘ﬁfmﬂfﬁ & | ¥ 3 S g W 100 e
% g e T, el v f oen
gj}g,m@rﬁ fereenfi fofam stmar 2 | gean
TS 1 A &
(A) 104 =g /4.2 (

l

B) 103 :{aq/n"r.zo\

.-JC) 107 =g /1.2 (D) 107 e /.3

. A 1, TTEGISE TG H T4 (n = 1)

31.
amwaﬁfam%“f =g (n = 4)
&1 A R
gA) 16r (B) 4r 34
5
% (C) . (D) — 16 ls s
Q?ﬁﬁ%w{aﬁgﬁraﬂwf@rﬁaw 32,
u gt 8
%‘w) u:mxﬁﬁfﬁ[
7 (B) u= e x gl
Y(C) u=§1srf%ra?rxﬁ$i%r
: .
@@ U=Z mxﬁﬁ
3/D 10

N

28,

29,

025 T
Ao g{w‘aﬁ@v -

A tuning fork of frequency 260 Hz is
vibrated with a sonometer wire angd
S beats are heard. If the tension in
the wire is slightly increased, the. b_eat
frequency also increases. The original
frequency of the sonometer is

(A) 265 Hz (B) 260 Hz

(C) 255 Hz (D) 250 Hz

A coil having inductance 0.15 H and -

resistance 15 is connected across a
220V, 50 Hz line. Compute the current
in the coil.

(A) 4.45 A

(B) 4.25 A
(C) 4.00 A

(D) 3.50 A

A cube of aluminium of side 10 cm
is subjected to a shearing force of
ly,;]00 N. The top surface of the cube
s displaced by 0.01 cm with respect
to bottom. The value of modulus of
rigidity is

(A) 10* N/m2
(C) 107 N/m?

(B) 10° N/m2
(D) 105 N/m?

Ifr, is the radius of the first (n = 1) Bohr

~orbitin a hydrogen atom, the radius of

the fourth (n = 4) orbit is given by

(A) 16T, (B) 4r,
1 1
(C) Zro ' (D) 1_ér°

Potential energy per unit volume u of
a strained wire is

(A) u = stress x strain

(B)
(C)

(D) u

1
Uu=—

2 stress x strain

1 .
u= 5 stress x strain

3 .
Z stress x strain
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(A) 48 uF (B) 40 pF
(C) 82 uF (D) 16 pF
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SeShYUT A9 BT @
27a ~a
(A) bR (B) 8Rb
ab 2a
©) 2/ ©) 7p

36. qtmvgmz_ﬂ?m’qaﬁac—craﬁrk T
PR B e A B | TR e 2.
v"’/ o e 1 kT R Y ) e
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(D) 4
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33. Two lenses have dispersive powers in
ratio 2 : 3. These glasses are used to
make achromatic lens of focal length

2 _) 20cm The value of focal lengths of
r’ 20 two lenses are
_) (A f=5cm,f,=-10cm
— 20 (B) f,=-10cm,f,=10cm
A (C) f,=6.67cm, f,=-10cm
"3’ (D) f,=10cm, f,=-10cm
- 6*
34. Acapacitorwith airbetweenits plateshas
a capacitance of 8 pF. Its capacitance
onintroducing a dielectric with dielectric
constant 6 between its plates, is
(A) 48 uF (B) 40 uF
(C) 32 uF (D) 16 pF
35. Foravan der Waals gas the inversion
temperature at low pressure is
27a _a
A TR ®) BRo
ab 2a
© 8R (B) Rb
36. The wavelength of k x-ray line of an
element of atomic number z = 11 is A.
The wavelength of k_ x-ray line of
o another element of atomic number z
< is4r Thenzis
(A) 11 (B) 44
(C) 6 (D) 4
37. The ratio of most probable speed and
average speed of a gas enclosed ina
vessel is
Jn

® 5 ®) 1

4% "
CANTE \
(? Vr /}/(}
© %
#

&

\ =—

1 £ o 2
( C) (D) In
j{ ’ PG-03/D
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38.  TUHIE 1.5 ) T HAHL T
P s e T AT 81

\

Y 10 BT E)

(A) 43.7° (B) 33.7°

(C) 56.3° (D) 23.4°

39. T St e A el A1 A A

48, A 501, Y A 2, o TS A

) .(L 9601?-'!& ¥ Tg 70 AR, B ST B |
W | e i e st 7

ot
- \f’ (A) 200 Q (B) 180 Q

C/}"’/(C) 150 Q

40. T 19 Sl W
Bl g |
(A) FaT
(B) it
(C) 5HH
(D) 37 9 %13 e

(D) 120

& gfEET o

41, T gl 3 x 10 e o

8 Tt ¥ wiEfia g 2 ufter @

STt &, Tt Fvect § IRq forem amees o
2iee R | et o wediehea 8

(A) 1B eT  (B) 5 fircht vt

(C) 20fi=fte®d (D) 10 fireh &t
,,bdﬂ
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39.

(A) 200 Q

40,

41.

" (A) 1 mH

| (C) 20 mH

-

| d_s
ﬁ’@/

A rectangular glass
index 1.5 is used as a polarizer. The

plate of refractive

corresponding polarizing angle will be

(A) 43.7° (B) 33.7°

(C) 56.3° (D) 23.4°

When the plate voltage applied to a
diode valve is changed from 48 V to

"50 V, the plate current increases from

60 mA to 70 mA. What is the dynamic

- .plate resistance of the diode ?

"(B) 180 @

(C) 150 Q (D) 120 Q Q-j

o
' X
Viscosity of a gas is due to transport of | |

(A) momentum

o |
|
(B). energy N |

~ (C) mass

(D) none of these

When the current in é coil changes-
~ from 8A to 2A in 3 x 10, the emf -

induced in the coil is 2V. The self
inductance of the coil is

(B) 5mH

(D) 10 mH
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ZIch B2 craxfas

K
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(B) 4.6 x 10* =g /%™, 4.5 x 10
I [T
— 4.6 x 10*=T /g™, 4.5 x 10
A [
, (D) 4.5x 107 [F=TM, 6 x 10°7[&/

=N (©

fgq ;}* U0 T 3. e forg T AT H T R
£ 1 sfeer HI |
W@ 3x 1052 (B)4x10%2
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42. According to Planck the average energy
of oscillators with frequency v and its
integral mulliples is

(A) KT
hu

(B) huoxp(~ﬁJ
hu

(C) BXD(—DU)”

\ kT) |

hu

[ [ hv |

(D) exp\—ﬁ]—t

L

43. A dipole is formed by two charges of
5uC and —5pC at a distance of 8 mm.
Find electric field at i) a point 25 cm
away from dipole centre at its axis
and ii) a point 20 cm away on a line
perpendicular to the axis and passing

through its centre
(A) 6% 10°N/C, 4.5 x 10* N/C
(B) 4.6 x 10*N/C, 4.5 x 10* N/C
(C) —4.6 x 10*N/C, 4.5 x 10* N/C
(D) 4.5 x 10°N/C, 6 x 105 N/C
44. Compute the magnetic induction in air

at a point 10 cm from a long straight
wire carrying a current of 20 A.

(A) 3x10°T (B) 4x10°T

(C) 5x10°T (D)6x10°T
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48. 100° C W TH Tt 1 T @UE T At
# 3uer g & e BT ST @ | e i
nﬁaﬁﬁéaﬁqsﬂ%’ﬁmwaﬁ
Tl FaT 2 ?
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E

o) ag =—
(A) A (B) B
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%‘: ' !
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E: 45. The shape of the Lissajous Figures
45. Wﬁlﬁﬂmﬁ‘ﬂm% dopenddén
(A) Wmma’bﬁa’-’ m T (A) The amplltUde of the SUperposmg 1
) waves f
(B) e et i 1 T N (B) Frequencies of superposz\? Wa\tlss
N Tq T (C) The phase difference be eenthe
(C) A =0 Tl T o shred SUperposing Waves
(D) ST |+t (D) All of the above
46. p =154, = 15587 A= 6500 A% (| 46, For i, = 1.544, kg = 1.568 and
T srqerter T Wi EIRGERS \éﬁ A = 6500 A, the thickness of 8
~ quarter wave plate is
(A) 100WTH T IR a%e K e 10.0um
(B) 11.6 HTgh! HiX §+\° (B) 11.6 um
(C) 0.25 ATgH! HX I | / _9(C) 0.25 um
(D) 0.28 TTEEhI HiX ve -~ 1\ 5 LD) 0.28 pm " Sual
PRI ere notations carry their u ,
78T Hahal ol G A9 7 | \ meaning.
47. TR YT I Bl B A 47. The displacement current arises due to
(A) et ST STTAT o SHIT (A) positive charges only
(B) et FRVITcH STTERT o6 HITOT (B) negative charges only ,
(C) 3R TR T VT STIoRT 6 SheT (C) both positive and negative charges -
(D) T AT e fIE & o ROl (D) time varying electric field

48. Ablock of steel heatedto 100° C is I'eft

in a room to cool. Which of the curves -
shown in figure, represents the correct .
behaviour ?

c)Temperature —_—
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(A) T e
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St (Pl oy 210y I TRt o6 STER W) B
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(A) %KT_ (B) =KT

fifire oo 66° 2 | wferer & foream o &9
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(A) 5T (B) 107
(C) 27™

4
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y oy

Lo

(D)4T,l1jl!0 ?
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b= f/.i'ﬂ%?

49.

. 50.

51.

52.

The streamline flow of an incompressible
and non-viscous liquid is described by

.. (A) Boyle's law

(A)
(B) Poiseuille’s law

(C) Archimedes principle
(D)

D) Bernoulli's principle

In aYoung's'dgubIe slitexperiment the slit
separation is 0,12 mm, the wavelength
of light used is 5893 A° and interference
pattern is observed on ascreen imaway.
The separation between successive
bright fringes will be

(B) 5.50 mm
(D) 4.50 mm

(A) 6.50 mm
(C) 4.91 mm
The mean Kinetic energy of one mole

of gas per degree of freedom (on the
basis of Kinetic theory of gases) is

WK @ KT
©) %RT D) %RT

A 200 mm long polarimeter tube
containing 48 cm?® of sugar solution
produces an optical rotation of 11°
when placed in a polarimeter and
infront of white light, if the specific
rotation of sugar solution is 66°. The
amount of sugar contained in the tube
in form of solution is

(A) 5gm (B) 10gm
(C) 2gm (D) 4 gm
IiPG-03/D
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53. Q%ﬁ%ngﬁaﬂmw@mﬂ“ﬁ )

‘:"Ea?qamw(n)mﬂﬂ""
¥ e SER FAAE M7 7 )

(A)'2.4 (B) 1.2 71_, Sipy
(C) 0.4 (D) 0.2 /7:6—

54. mﬁmmm%wm

2 | el

55. ﬁam%mwﬁﬁﬁmﬁ@ﬁ

w Hifae i gifda St 7

(A) SOt G

(B) Tl St

(C) s wam

(D) gl St
56. ot & @ i @ ey wicteimen A 2
S BT @ 7
(A) IS YR fo=ma o gifereet
(B) IS eheich fomamd § ZIoRX
(C) s wuTew famm # gifvre
(D) Ik AfEfT § SR SRS

57. G TTCIRI ohi ST ATl sl HTGH fohaT
T 8
(A) T fafer
(B) ot few fafyy
(C) Fetvet T o fafdy
(D) ST B i TEl

PG-03/D
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53.

56.

57.

| the value of
is 2.4 times of
), the value
terial is

For a given materia
Young's modulus (Y)
its modulus of rigidity (1
of Poisson's ratio of the ma
(A) 2.4 (B) 1.2

(C) 0.4 (D) 0.2

The critical angle is maximum when
light travels from

(A) water to air

(B) glass to air

(C) glass to water

(D) air to water

In central force motion which one
of the following physical quantity is
conserved ?

(A) Angular momentum

(B) Kinetic energy

(C) Linear momentum

(D) Total energy

Which of the following circuit is being

used in impedance matching ?

(A) transistor in common base
configuration

(B) transistor in common emitter
configuration

(C) transistor in common collector
configuration

(D) zener diode in reverse bias

Thermal conductivity of bad conductors
is measured by

(A) Searle’s method

(B) Lee's disc method

(C) Callendar and Barne's method
(D) None of the above

ad
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@oo 1002}
hrm \

5g, el fivs o TR 1,526 Hiel g
Tt 2 | G S B e T g
f2, wmder f T i e 2
(A) 0.0001m, 0.000065, 0.065%
_{B) 0.001m, 0.00065, 0.065%
(©) 0.001m, 0.001,0.1% LS

(D) 0.0001m, 0.0001,0.12% oy

o & 3. HE T AT T T TR e
5000 &.H1.2 3 | THH TF IS 110°3,
G gE 100° §. WE | e e i 3
FEEa0.115%. /8. 8.1, 3. B, Aiwe
210 1 TR I B
(A) 5750%./4.  (B) 4750°%. /4.
(C) 2875%./8. (D) 2375%. /4.

- ¢

et T T A T Sl 6 Qe 7 ¢
oo TR

x = 5sin(0.2nt + 0.57) =
FNH AT BCAD

(A) 10.09. (B) 1.04.
© 083 (D) 0.5

59.

60.

araﬁas@mgaﬂqtaa@%ﬁﬁw
ST ST B, ?ﬁara’T%Alaaam%l.
3% Wﬁfﬁarﬁtrﬁa?h —
T FATAT &
(ALY
@ (7

Al
(A) \/;

61.

(2R

59.

" et
/QBL/’V (A) 5750 cal/s (B) 4750 cal/s

A \'?’ (C) 2875 calls (D) 2375 cal/s
RSt

" 50.
¢

L

o)
Pl

17

61.

The length of an object is measured as
1.526 m. Taking significant figures into
account, the absolute error, relative
error and percentage error are

(A) 0.0001m, 0.000065, 0.065%
(B) 0.001m, 0.00065, 0.065%
(C) 0.001m, 0.001, 0.1%

(D) 0.0001m, 0.0001, 0.1%

An iron plate 2 cm thick has a
cross-section of 5000 cm?. Its one side
is at 110°C and the other side is at
100°C. If thermal conductivity of iron
is 0.115 cal/s-cm-°C, the rate of heat

flow through the plate is

The displacement equation of oscillations
of a particle executing simple harmonic

motion is
X = 5'sin(0.2xnt + 0.5m)

The time »period of particle is
(A) 10.0s (B) 1.0s
(C) 0.8s (D) 0.5s

When a linearload W is applied toametal
wire of length /, its length increases by Al
The fractional change in its volume

AV
— will be proportional to

@ \F o (%)
© & o (%)

1
PG-03/D

A
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62. ?ﬁz@qﬁgaﬁwyfﬁﬁ”%ﬁ
R
(A )

(B) P R=X
(C) P=Q=R=X

)Sﬂffﬁﬁéqﬁﬁ

63. @m‘?émﬁmrfmﬁémwmw
ST ST fora T @ 36k A
(A) T H i
(B) 19 7
(C) JehIT¥Teh e
(D) Fafa ufemm

64. amg,@mmaensm
%ﬁ«mﬁu&aﬂ%mﬁsﬁnﬁaam

aawmmaamﬁafﬂarﬁm o

! 3 |

(B) YAt sfter-wfsha mmﬁaﬁ X

e YC TR | '

(C) S oTaT Tay STt & AfeaehTe
AT AT hTei-] b STl fore -y
TAIe |

(D) TG ool It Set! AT AR
forgreet e el € |

65. R BT & U 3 T, Foreeh THeHH
313 ¥ € &, o kg qYT STed Tag
a8

eR2 2
(A) 3e, ®

B
(C) 2c. (D) I

PG-03/D 18

62. The sensitivity of a Wheatstone bridge
is maximum when

(A); R
X
(B) P=Q,R=X
(C) P=Q=R=X

63. The population inversion between
energy states in a Ruby laser is

achieved through
(A) raising of temperature
(B) lowering of temperature
(C) optical pumping

. (D) vacuum pumping

. 64. Identify the incorrect statement.

(A) Radioactivity makes it possible
to establish the age of many
geological and biological
specimens.

(B)-Radiocarbon is the beta-active

" carbon isotope "¢C.

(C) Living plants and animals have
different ratio of radiocarbon to
ordinary carbon.

(D) Cosmic rays are high energy
atomic nuclei chiefly protons.

" 65. Whatisthe potential difference between

the centre and the surface of a sphere
of radius R with uniform charge density

e within it ?
eR? 2
— eR

A B

(A) 3¢, (B) 6.

2

(C) izl (D) zero

2¢,
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66.

67.

68.

69.

70.

et TRTe § AR e R R g

66.
T Aiees § el 7
(A) T3 ®) 7
© 3 (©) =
wh dX A 20 pA Sl URT 30 Tde o 67,
Fefed BT & | TR i 3wz
 TE 8 v
(A) 375x 10®  (B) 375 x 10’5 « ‘1‘4‘\0,‘\‘
(C) 375x 10 (D) 375 x 1017 ,/‘
v AT & Tad: Taeie ZmH Ma e |,
fie fawwifea g1 ? 91 = wm o
Guei § forvh €1 S @ | e & g
1E 31 GUS fertmTEee W S € v
T TUS TG T4l 8 | 39 @S HI
Tfast Sstt & Bt ? ﬁ (\98
(A) 2 Mv2 B) Smv? w16 %
2 1 @g
- 1012 N | q
(C) Mv (D) ZMv 4“/4 0%
- - . ' . /ry’
J=cE, 9i& J UM T 8, c I & | 69.
TMEfgaaa g, 8
(A) Bt ol GHTRTT
(B) fercaar 1 ARl
(C) Uit 1 |
(D) 3TW o a0 o1 Tk &
& qd-qun st & o siiteRan 70,
Termeentor <egan Bt 8
(A) 40.6% (B) 50.0%
(C) 81.2% (D) 100.0%
' 19

The currentin an AC circuit is wattless
when the phase difference between
current and voltage is

n
(B) 2
(D) n

(A) zero
m
©€) 3

20 pA current is flowing in a wire for
30 seconds. The number of electrons

%, 9,7 passing through wire is

+\a" (S) 375 x 10"

-~

(A) 375 x 10"*  (B) 375 x 10"

(D) 375 x 10"

o
An object of mass M moving with

c (A 2M

velocity v explodes and breaks up
into three equal pieces. Immediately
after the explosion two pieces become
stationary, but the third piece keeps
moving. What is the kinetic energy of

this piece ?

3
B) —Mv?
()5

(C) Mv2 (D) %W

—

J = oE, where Jis current density, o is
conductivity and E is electric field, is

(A) Maxwell's equation
(B) Continuity equation
(C) Ampere's law

(D) A form of Ohm's law

Maximum rectification efficiency of a
half-wave rectifier is

(A) 40.6% (B) 50.0%
(C) 81.2% (D) 100.0%
PG-03/D
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7. U i & g gd o R
100 Wfwr gfm 2 | o v A F
FT TR

(fa & tan -1(1.33) =
JYSHI () = 1.33)

(A) 53.06° (B) 36°54'
(C) 143.06° (D) 126°54'

72. TR Sru S g S RIER T
(A) zEmweg NfRmdme
(B) ZRmm wg NEm TR
(C) JHT Zqur N farem g 8
(D) IMT Z AT N &9 i ®

53.06°, ql 1

73. S eATGoRT ATt foRUiT bt et 31 ST
9: 1% | AfdeRor fepmm (ﬂz:f)fraﬁw

T AT g1

(A) 5:4 (B) 2: 1 '5’* |
(C) 25: 16 (D) 4:1 .2
74. wﬁwqﬁﬁﬁwﬁwm
FEEEA _ HFME A EA
(A) 102eV  (B) 1072 MeV
(C) 102BeV (D) 1012y
75.  FAagH-ISIEH T Ie9 i 3
IEF FFaH S FAAE | 0)
(A) 0.5MeV  (B) 1KeV

(C) 0.5KevV (D)
PG-03/D

-?-

%‘@ v\ 3,

-\

2 %',efo

71.g Unlight is reflected from a lake is

100% polarized at any instant. The
angle between the sun and horizon at
that instant js

(Given tan -1(1.33) = 53.06°, p Of

water = 1,33)
(A) 53.06° (B) 36°54'
(C) 143.06° (D) 126°54’

72. At the peak of the nuclear binding

energy curve

(A) Zis even but N is odd
(B) Zis odd but N is even
(C) Both Z and N are odd
(D) Both Z and N are even

73.  Twointerfering waves have intensities

in the ratio 9 : 1. The ratio of maximum
and minimum intensities, in interference

; pattern, will be
2" (A)5:4 (B) 2:1
, (C)25:16 (D) 4: 1

74. Theaverage binding energy per nucleon

of most nuclei is of the order of
(A) 1072 eV (B) 102 MeV

(C) 10BeV (D) 1024

Minimum energy required for electron-
positron pair production is

(A) 0.5 MeV
(C) 0.5 KeV

" (B) 1KeV
(D) 1 MeV
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76. T I SoH hl SERT 254, 3 I?lﬁa’m 76. The efficiency of a Carnot engine is
%1 ad 327° . B, N {w w57 g 25%. If the temperature of its source
=1eY /6" (T is327°C, the temperature of the sink

0 [ must be
(A) B2 2 B) 127974~ | 6" Sqn) g2oC (B) 127°C
(C) 177°]. (D) 22709, ngfé’o (C) 177°C (D) 227°C
cv |-
77, TR RRK X WRTIR 1500 am. /000 9, | ’2% lectrical heater is labeled
& 220 9l 9Id ¥ I8 et e e /ﬂ)’%; W/220 V. How much current does
g ? @& s heater draw from a 220 V source ?
(A) 5.1T. @ esd P lp (A 5IA (B) 6.8 A
(C) 9.2T. (D) 10.0%. = %/ (C) 9.2A (D) 10.0 A
78. WWWWW% | - 78. Kirchhoff's Laws are applicable to
A) FEA S T A '{\b/ (A) DC only
) B) @ THI N\ = (B) AC only
(C) vHia S =i L ~ P I (C) AC and DC both
(D) ITE | A HE 72 E 3;{ (D) None of the above
- = | i

79. e U oY 34 Tieieh Toh T 89 1 Bigl 1 é@ When a small solid sphere is dropped
TR, ) a0 Te Ueh THEHH o7 U1 T Z— ina viscous liquid, it finally acquires a
FAdT 8, ST hgadl & | - uniform velocity which is called
(A) TSI AT (A) Escape velocity
(B) =T AT (B) Terminal velocity
(C) Hfdeh a7 (C) Critical velocity
(D) WIee o (D) Reynold velocity

80. i 1 TafRror Fram zw witfefa # o 80. Planck’s radiation law reduces to
i 3 wierffe € < 8 1hes law for
(A) IS (A) higher A
(B) T A (B) lower A
(C) IR A (C) higher temperature
(D) TieTaR A (D) lower temperature

PG-03/D
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Frefifea fm § quic waem § T
i, grft
—) C o
(A) 3C (B) 2C
© ¢ o5
292
82. WH TMI S0 127°C T 27°C & "L
-4 T T TET R | T8 80 Shefidl S SR |
,"Q%* "'Tﬁm%laﬁ'ﬁﬁﬂquﬂﬂmm? ‘
€?'( A) 80 =l (B) 60 IR | .
) &% (C) 40 ¥ (D) 20 FAE
Qe 83 30H.A. ﬁwﬁwﬁm@wqm
1=Ce Rl HE e @ Y, P @A
— 3R 500 &t & | AR g F wafy A
ﬁé 340 .78, 4, T T 30 gt
! * AR FE ?
- 369
! q’\(’ B 500 )
SR C) 544 Tt (D) 600 &t
84. O (WTERYT) qUT E (SFETHRY) T o5 e
&\ @aﬁ—w@zmmwﬁ%
W“: @ 3 ® 5
(C) n n/4

85. @wﬁmmﬁmm%
(A) FH TUT RUITHF
(B) S AT THIcH
(C) 3fereh T TATeHh
(D) 31fereh qT RUTTcHH

PG-03/D

i
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81.

82,

83!

84.

85.

=0

~combination shown in figure be

The equivalent capacitanceé of the
low, is

— e E I
(A) 3C (B) 2C

C
€)c (D) 5

A Camot engine is working between
127°C and 27°C. It absorbs 80 cals of
heat. How much heat is rejected ?
(A) 80 cals (B) 60 cals

(C) 40 cals (D) 20 cals

‘A carmoving at 30 m/s is approaching a

factory, whose whistle has a frequency
of 500 Hz. If the speed of sound in
air is 340 m/s, what is the apparent
frequency of whistle as heard by the
car driver ?

(A) 480 Hz (B) 500 Hz

(C) 544 Hz (D) 600 Hz

A half-wave plate produces a phase
difference between O (ordinary) and
E (extraordlnary) waves equal to

(A) 5
C)n

(B) ?
. (D) n/4

The magnetic susceptibility of g
diamagnetic material is

(A) small and negative
(B) small and positive
(C) large and positive
(D) large and negative
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R 3 FN TR w7

(A) %ﬁa@mﬁ UTTWHT%?{gﬁ
q‘{ma‘qfo

(B)mma\‘“ﬂaﬁngﬁmm
g

lc)ﬂsﬂﬁqaﬁf%am T

(D) el i 19 AT Ea 1 e ey
71 FosgR S, S S @
JERIFT 8, T TG VS ST

0.0814 T A, 7@ 1 A, few
SR T ¥ Wid SHUS SR YaTika @
T e | SR T & e W R et
fRwRmEwane L |
(A) 2§11 /ds0s R
(B) 1.5 .41 /d=Us
(C) 14.41./4=0s
(0) T T
W
A Ty, = A, sink(x = ot) g
y,=A, Sink(x—ut+X,), TETk = 2n H.H.
o x, = 1.50 H.. 2, R AR
fimn ST & 1 3 A, = 9.00 L. T

w
~I

-

88.

© )%
/N
T (¥
i ol /R aieds oy i_’g);i_,r\o

% :
-9‘;44’

86. Which of the following is a reversible

process ?

(A) Production of heat by the passage
of current through an electrical
resistance

nduction of heat from a hot

dy to a colder body

he changes in the pressure and

volume of the working substance

\ jakes place at infinitely slow rate

of '(.E—)\‘forcing of a real gas or liquid
through a valve or porous plu
KV g p plug

while keeping them insulated
with the environment
87. 0.0314 cm3of a liquid is flowing out
per second through a capillary tube of
1 mm radius. Velocity of the liquid at
a point on the axis of the capillary is
(A) 2cm/s
- (B) 1.5 cm/s
b (C) 1cm/s

~\&L{§D) 0

88. Two waves y, = A, sink(x — vt) and
y, = A, sink(x — vt + X;), where
k =2n cm™ and x, = 1.50 cm are
superposed. If A, = 9.00 mm and

vA, =7.00 @ 8, QR qT it A, =7.00 mm, what is the amplitude
JEmEE? g.l;{ of the resulting wave ?
(A) 16.0 il (B) 8.0 A "% & (A) 16.0mm  (B) 8.0 mm
() 20fasf. (D) 1.0 (C) 20mm (D) 1.0mm
89. 1237 sqraieia g 500KA@H | 89, A spherical body with radius 12 cm
W%Oﬁﬁpﬂﬁ% | afe radiates 450 W power at 500 K.
C AT If the radius were halved and the
ﬁwaﬁmaﬂﬁmﬁﬁw mﬁﬂ? temperature doubled, what would be
5 far o A Seatoid e fahet el the power radiated ?
(A) 900 W (B) 7200 W qfr (A) 900 W (B) 7200 W
(C) 3600W L’(D) 1800 W (C) 3600W (D) 1800 W
4 po T 1P @ PG-03/D
i ' gt ¥ qp 00
. ¢f5
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90. ”SCdﬁaTCﬁ?IngT:ﬁ?ﬂmeW%
(ﬁm 2 :ino=112X% 1‘04 -q‘?EI*‘,
n aﬂﬁwﬁﬁﬁmﬁﬁm_%
AT & TEVT GRED% €)
(A) 0.2678 fa.H1.
(B) 0.1786 f.Hl.
(C) 0.0892 f .

(D) 0.1339 fa.4.

o1. 10-2 3, arefea <1 T S g 1000
@Wﬁ@ﬁﬁ@ﬁ%ﬁﬁ%lﬂfé
S 1 qs-amE 0.075 = /. ]l
-l § @fedt gt |
(A) 8.5 x 103,
(B) 8.1 x 103,
(C) 7.7 x 1073,
(D) 7.5x 1073,

.

92. @mﬁwmx,wmﬁ?
@Y 39 YHR uREfdd et x=$
. Sgf C U IR e | Tg v §

(A) FUEHiH

(B) SHETAHIEH

(C) WHfeH

(D) HHERREH

~

f Bl 2
1

(A) fr=m (B) f =2nJLC

C

le=Tt
a

1% AN
P ASE S

08, TR LCR AT R TR |

L
(C) ]:,:271'Jg (D) fr=27t T:

G-03/D

24

ons
90. The mean free path of thermal neutr

in 11SCd i i
(Given:r:i=1,12x 10* m_1'n,,nump9;
of atoms per cubic metre, o — captf
cross section)

(A) 0.2678 mm

(B) 0.1786 mm

(C) 0.0892 mm

(D) 0.1339 mm

ius 10-2mis broken
If the surface
N/m, the gain

91. Awaterdrop of rad
__into 1000 equal droplets-
tension of water is 0.075

in surface energy will bé

(A 85x107J
~(B) B1x 10
(C) 7.7 x10*J

(D) 7.5x 10

;fQ?.’.l The magnetic susceptibility ‘X. of a
"~ aterial varies with absolute temperature
L Tes x=":|_—"Where C is a constant. This

" materialis |
(A) paramagnetic
(B) diamagnetic

(C) ferromagnetic
(D) ferrimagnetic

““93. In a driven series LCR circuit, the

resonant frequency f, is given by

- 1
© (A) fﬁm (B) f, =2nJLC

| L
© =25 O =2l
| , L
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94. Th AR e o, e e st
IR ATeTehed J,, TUT gl W .
(A) r,=pg,

(B) g =T, p ¥
C) p=1,9,

(D) r2=p?+g,°

Ay

95. =5 W Fel & forgett & e o

2, TS foh 500 6.1, S et gram
afe BT R, 3 -
(M AR T 4 x 10° Bd qnw H
gaiiees gaifedr 5500A qiesd o fore 3)
(A) 40 HiX (B) 43 Hi

(C) 53.6#i& (D) 50.6 X

@ f& 2000 T, T it TS TEHTT 6 ‘

wﬁmmﬁwﬁaﬂaﬂmﬁ
Fr A & T 1.20 9. faT=R AT

T, ot Freer % 1 4 e 1 TR
) 62134 (B) 5.01%.
(C) 48034 (D) 45034

04,

95.

97.

The dynamic plate resistance r , mutual
conductance g, and amplification |
factor p of a triode valve are related
to each other as

(A) r,=Hn
(B) 9, =10y
(C) p=T5On
(D) r2=p+0,°

“The mean separation of two points

on moon that can be resolved by a
500 cm telescope aperture is
(distance of the moonis 4 X 10° km, eye
is most sensitive to wavelength 5500 A)
(A) 40 m (B) 43 m

(C) 53.6 m (D) 50.6 m

1f 1.20 V potential difference must be

appliedtostop the fastest photoelectrons
emitted by a nickel surface under the
action of ultraviolet light of wavelength
2000 A, calculate the work function of
nickel.

(A) 6.21 eV
(C) 4.80eV

(B) 5.01 eV
(D) 4.50 eV

The Kinetic energy per unit volume of
a perfect gas is equal to

3
® 3"
P 1
©) 3 (D) 5P

Where P is pressure.

‘ PG-03/D
€
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e aTqmTd Sk, TeREHT HEACT A

WE? Mp
(A) 40° ‘A
(C) 435° e

99. SEWMF m % e firg 1 gl @aE §
et arefeame R 3 SIS eIl O
(g = 92 g W TRl )

3
(A) 2 MR

(B) 180°
(D) 574°

~

O
W
e
100. HYFF HT F Hrglera areh all i
TemTgfora s @ e 3w Wi = 8
(A) fermgam qur feeefn
(B) TenTger qo fereamor
(C) Texesmor qer fseefir
(D) SRYM e e
101, §P% Fefv ek e 4 2
o R v /fries & w0 & wn e
(((% & %? g . y
o 4 - (A) TSfeee s
¢ GIEEIES
(C) aritt vie
(D) %

102.  Ifide 1 =g Fom goem gy & &
(A) T 1 g
(B) Topt=s =1 fam
(C) =ik = fm
(D) &t 1 e fem

PG-03/D

1
—mgR -
®) M

2
(C) 3M9R (D) mgR

il
P
\

6%

0

Y@ R0LT 7
W
98. mmq‘{@ﬁu@'a‘;m’ Wﬁ ' 98 At what temperatu;e of a bOdy: the

Fahrenheit and Kelvin thermometer
scales give equal numerical values g
(A) 40° (B) 180°

(C) 4350 (D) 574°

9. The gaihin potential energy of an object

of mass m rajsed from the surface of
earth to a height equal to the radius R
of the earth, is (g = acceleration due
to gravity at the earth’s surface).

3 1
(AY = —mgR
(A) 3MIR (B) M9

2
—mgR
39

The function of a detectoris todemodulate
the modulated carrier wave and the

steps for the process are

(A) Demodulation and filtering

(B) Demodulation and rectification
(C) Rectification and filtering

(D) Generation and filtering

" (C) (D) mgR

100.

Which. one of the Af,ol,lowing is used as a

101,
~ coolantmoderator in a nuclear reactor ?
- l"('A_)_,_;[_?ist'illed water
(B) Freéﬁ water
(C) Heavy water -
(D) lce

102. Newton's law of cooling is a special

case of
(A) Stefan’s law
(B) Kirchhoff's law
. (C) Planck’s law
(D)ZV\_I,,ier_\’s displacement law

). .’
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103. q, T q, 3 3T T TR Al @y 3
Hﬁ@ﬁwaﬁﬂqaﬁ%qmmwg
q, B q, T T T 9 a7 ’
(A) ST
(B) T &
(C) TR & Il &
DRRESIUE

104. gt & ‘J'ﬁ_cf Ush IR Yesft wag @
600 fo. 1, F9E W, @R | Sy

(qoet i@ = 6400 f.., gedt
S = 6 x 10% fh.1m, ’
G = 6.67 x 10-" =, 1. 2/f%.7m.2)

(A) 11.00 f&.=. /3.

(B) 9.00 5.4t /8.

(C) 7.60 feh. . /&,

(D) 4.92 f&. . /4.

105. T UTER UTATS B T Hedl 3T
feet 3 |

(A) L — 8 et

(B) 3Rt FYE e

C) =ieh FYE et

(
(D) 7 — B et

106, @ﬁgmﬁﬁm@wdﬁﬁ%
(R S wfiee = 7.2 108 =Zgg/dt.2
T T = 7.8 x 103 TR AL
(A) 10T (B) 9.4 HIX

() 9.4fri. (D) 100

: 2T 4
W‘% P \’///' O

a4 - /\Q/’F\

103. Two charges q, and g, are placed
. close to each other, if a third charge
q, is brought near to it, the force now

exerted by g, on d,
(A) increases

(B) decreases

(C) remains the same
(D) reduces to zero

A satellite is revolving round the earth
at a height of 600 km from the surface
of earth. The speed of the satellite is
(Radius of the earth = 6400 km, mass
of the earth : 6 x 10* kg.
G = 6.67 x 10" N-m%kg?)
(A) 11.00 km/s
(B) 9.00 km/s
" (C) 7.60 km/s

(D) 4.92 km/s

104.

105. | The best filter used in a power supply is

(A) L—.section filter
(B) Capacitor input filter
(C) Choke input filter

(D) = — section filter

106. The greatest length of a wire that can
be stretched without breaking. (Given
breaking stress = 7.2 x 108 N/m?,
density of wire = 7.8 x 10° kg/m®)

(A) 10 metre (B) 9.4 metre

(C) 9.4 kilometre (D) 100 metre
PG-03/D
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107.

108.

108.

110.

aﬁ@ﬁWﬁmmﬁﬁg?Eﬁ
e

& g & o B, T
20 =1  srefid WOt Mo
(A) 5% (B) 10%

(C) 25% (D) 32%

By &t +15 S, 9 12 gl &
2 7 < e f @ S ® |
RIS S ) i g B

A) +38H.  (B)+15 1. f
(C) —128+H. (D) -60€H.

—
P

zrf%:f=|Os,in2mtrvrrerﬁ?vﬁco=ET’E dt=0d
t=TdH | FAGIATE S

(A) 21, (B) 3l,
©) 12 (D) 1,3

4 U M fareg & +4pC, 50 .HL

Y[ % T 1 o S ] W T R |

Tt Ue ST TR ST O ©

(A) 1.10 =, Tererot ox 3 femm |
(B) 0.72 Y, foreul Wt avax famm &
(C) 0.72 7, Torehot o =TT femr &
(D) 1.10 7, Terehof o amew fawm 4

SRl o T TaeeT GHISRT
>2 1 0°¥
(A) V \IJ= 2—6F-

(B) \1?(?, t) = A, sin(ot k.

\ui

£ o6

*

D

111.

2y, 0¥
©) 2z =" %
- v
VY =02 —
(D) D=

pG-03/D

28

107.

108.

2
Lot
:

, S
If 25% of a radioactive matefrial dgciagal
in 5 years, how much of the Odn%fter
material wij| pe left undecay®

20 years ?

(A) 5% (B) 10%

(C) 25% (D) 32%

Two thin lenses, of focal IengthfJl
+15 ¢m and —12 cm, are pl&flcti
in contact, The focal length © e
combination lens will bé

(A) +3cm (B) +15¢m

(C) —12cm (D) —60¢cm

The average value of | fromt=010

21 .

t="T, for | = | sinot whereo = T is
(A) 2, B) 3l,

(C) 142 (D) 1/3

4 equal point charges, +4uC, are
placed at four corners of a square that
is 50 cm on a side. The force on any

of the charges, is ;

(A) 1.10 N inward along diagonal
(B) (072 N inward along diagonal
(C) 0.72 N outward along diagonal
(D) 1.10 N outward along diagonal

The differential equation of three
dimensional wave is

- 1 8°¥

BN R

(B) W(F,1)=A,sin(at-k.T)
oY 0¥

(C) at'Z =V ax

D) V¥=ur

ot

; Pt "1y
€
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112. @RE’I@W{ Qaﬁﬁﬁmﬁm Tﬁ'aqt‘sa‘em 112, ‘At constant pressure the temperature

aﬁ‘m‘w-‘ﬁ AT §EH Q° . WHH W A of gas T, at which root — mean — square
‘J,"Tﬁ Tl 8 velocity is twice its value at 0°C, is
(A) 819°%h. (B) 900° 3. (A) 819° K (B) 900° K
(C) 980° %, (D) 819° 3. (C) 980°K (D) 819°C
13, T ST (Soifeet) ot ot ders, | 1130 A drivet?l (;o;ced) tharmonicdcsciu:mft
2 5 : has settled down to a steady state o
ﬁ. SRS | oscillation. In steady state, the ratio of
T 3t St wifeR e o average power absorbed and average
&TRIq wTfeRT =T ST TR power dissipated will be
1 1
1 1 1 A
(A 3 ® 3 (A) 3 ®) 3
(€)1 (D) 2 (C) 1 (D) 2
114. TS FASIR et sl o Soeht 3 | 114. The process of changing a weak signal -
. : ithout altering its shape into a strong
afEaH o g AT et & SeeHT ST w
s & ' _ one is known as
ETTW@T (B) R ' (A) Biasing (B) Rectification
((c; HIg (D) JaEH - ~(C) Modulation (D) Amplification
D 1= i ko't
d ‘ofgrad | - | Is
115, grad[;]mmth?ﬂ% 1GE G Value ot g (r)
5 @A) L (B) zero -
A) _L (B) ;A r
: | i 7
4 [4 G} — D) -L
©-5  O-3 © s :
r s

am e th
oE] 116. The flux of the electric field streng
e, qﬁ'@ q, [N T through each of the faces of a closed

o 5, T TGl ST, 5 9 cube of edge length /,if a charge qis
B Frerer fergga—&rt dffora o1 wI ? placed at its centre, is
g g q q
(A) Ge, P (B) e, 1 A ge, 7 B Ee
q q
L. — D) == 5
(©) -6—(1_ (D) 6 € I (C)j B g, (0) 6¢, !l |
€
0 29 P P PG-03/D
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17. @H@wwﬁgﬁ@ﬁa{rﬁaﬁﬁoqo}
2 |9 W 1200 A el R E
AT B 9T 7
EARIIGE B ?

(A) 6.2eV (B) 3.1eV
(C) 1.65eV (D) 1.03 eV

@W—maﬁ@m@mﬁﬁ
frfiiaa srepfaal | o fore @& g1
ﬁ'(if‘\?l'aﬁ?mam%?

118.

A Sk ®) sio
T T

(©) slo D) s>
CT 0]

2000 ¥ ¥} T a1 RIS AR,
60 .70, e qon 2 T, A AR |
af 5. ar gad O S R, @
3TEX Tl B BT ,
(A) 0.04272. (B) 0.0352.
(C) 0.0302. (D) 0.021 <.

Teh A dal W h3ars & o fraat =t

119.

120.

(C)

@ﬁ,MWﬁ_a’mnam%ﬁ@
| (f)/\Jigh ®) J2gh
B
@{ﬁﬁm%lm,mﬁﬁ
1 30° IV E TR ST @ | Ak
Wgﬁ’(’n?
()/‘?) ) 100%

(B) 75%

1

K
pPG-03/D

ST I R IR | ST o Al R
3
3
= ® @1
121.
p
"{&(/% Wmﬁafmgﬁmfsama
25% D) 12.5%
(C) (D) e
&
17 Gy
(VD %

s

30

112
» for ametal is 3000

18.

119.

120.

121.

hreshold wavelength
A What s the kinetic
ed fromit by

The photoelectric t

energy of an electron eject
radiation of wavelength 1200 A?
(A) 6.2 eV ®) 3.1eV
(C) 1.65 eV (D) 1.03eV

A Carnot cycle is represented on an
entropy-temperature diagram by which
one of the following figures ?

(A) Sl%‘ (B) s\_n;rl_
(C) slo. (D) s
T T

An air core solenoid with 2000 loops in
it, is 60 cm long and has & diameter of
2 cm. If a current of 5A is sent through
it, the flux density within it will be

(A) 0.042T (B) 0.035T

(C) 0.030 T (D) 0.021T

Consider a solid cylinder of mass M
and radius R rolling down an inclined
plane without slipping from a height h.
The speed of its centre of mass when
the cylinder reaches the bottom, is

4

(A) \lggh (B) J2gh
3

© (2sh O 3

Two Nicols are crossed to each other.
- Now, one of them is rotated through
30°. What percentage of incident
polarised light will pass through the
system ?
(A) 100%
(C) 25%

(B) 75%
(D) 12.5%

T
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122.

123.

124.

125.

TS T 9 2 x 1077 /Y, B | T Ay
P

HE] Eﬁ’?ﬂ?ﬂq ZTWW_E@quﬂm

Ll
(A) 10x 107H. (B) 8 x 107 f},

(C) 6x107Hl. (D) 4 x 107 ft,

LASER ¥ S hH Y frfy 3

(A) T Ter TR 3R Tige ww
TEHTILAT P AT IR W ayareer
4 o1tk B @

(B) e rEgferd e 3R TS ww i
TETIRAT Y HEAT, IS T &
FIEIA 2

(C) Tk Hferd 37w 37K UIE8 &R w
T U H AT Al T SR
Bt B

(D) T ST ST 3 A T

T &R H e 8

orehYe ShuTt oA SR TRHTY] 1T ek st
¥ o Seerft g %1 @

(A) QA (B) A

(C) (D) =afe

T AT T SR 80 Q § a
00 1.3, Ryt % forg gof v foe
1% | T 59, R uRfda
¥ e frr e Sroft e e @

(A) 4920 © (B) 5220 Q
(C) 10520 & (D) 19920 Q

122.

123.

124.

125.

The mean free path of molecules
of a certain gas at pressure p and
temperature Tis 2 x 10~" m. The mean
free path for the same gas at pressure

g and temperature 2T, will be

(A) 10x 107 m (B) 8x 107 m
(C) 6x10"m (D) 4% 107 m

State of population inversion in
LASER is

(A) an equilibrium state and number
of atoms in ground state is more
than that of excited state

(B) anon equilibrium state and number
of atoms in ground state is less
than that of in excited state

(C) an equilibrium state and number
of atoms in ground state is same
as that in excited states

(D) anon equilibrium state and number
of all atoms lie in excited state

The elementary particles responsible
for holding nucleons together to form

 atomic nuclei are

(A) Gluons (B) Mesons
(C) Bosons (D) Neutrinos

A galvanometer has a resistance of
80 Q and deflects full scale for a
potential of 20 mV across it. How
large a series resistance is required to
convert it to a 5V voltmeter ?

(A) 4920 Q (B) 5220 Q
(C) 10520 (D) 19920 Q

31
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